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In the Federated Universe, the Galpons “

and the Exetrarts do not get on.

The Exetrarts will dematerialise any Galpon they are in close
contact with, provided they are in the majority.

The Galpons are peaceful and won’t harm any Exetrarts they
find themselves with.

Three Galpons and three Exetrarts are on a crippled space
transport to the planet Jeeboh.

Therefore they need to transfer to a space shuttle
in which only two creatures can travel at a time.

All of the Galpons can drive the shuttle

but only one Exetrart can drive.
Can they all get to the surface of \7“ o ' ° (

Jeeboh safely?
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